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accomplice
absorb
advocate
buggy

bog down
bald
backsplash
apocryphal
aggression
adaptability
apparition
antagonize
botch
archive

ache
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Quiz One: 1-150

Part One: Choose which answer is most similar in meaning to the word in bold.

. assistant
. give out
. supporter

. car

B. police officer C. bookkeeper D.

B.

B

B

incorporate
. physician

. plane

. to be finished B. to be stuck

. studious

. wood

. authentic

. imitation

. suitability

. appearance
. submit

. solve

. rectangle

. pleasure

B.

B.
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B.

B.

B

B.

B.

B.

B.

uncovered
styrofoam
surreal
factory
humility

. absence
trade

ruin
sidewalk

discomfort

C.
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C.
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Part Two: Choose which answer is most opposite in meaning to the word in bold.

16.

17.
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20.

21.

22.

23.

24.

25.

26.

audit

afford
adverse
awkwardness
bleak

back
aggregate
atrocity
bizarre
amass

bundle
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analyze

. give

. cold

. support
scatter

. enormity

. strange

. accumulate

. scattering

B

B

B

B.

B.

B

B

. review

. provide

. troublesome B. pleasurable

. embarrassment B. discomfort

. forbidding
uphold
collect

. heinousness
. normal

. stockpile

. bunch

C.

O o o O

C.

C.

C.

observer
exude D. scatter
. metal worker D. opponent
. bicycle D. cart
. to be rewritten D. to be drawn
. isolated D. cemented
. liquid D. leather
.noteworthy  D. fake
. attack D. astonishment
task D. endearment
. departure D. assignment
. provoke D. hide
. invest D. instruct
. painting D. collection
oration D. structure
study D. ignore
. deny D. make available
. problematic D. complicated
. pleasantness D. tenseness
. cheerful D. depressing
. side with D. oppose
add up D. total

generousness D. monstrousness

. odd D. outlandish
distribute D. store
. cluster D. set



27. baseline A. exception B. norm C. guideline D. benchmark

28. befriend A. favor B. ignore C. fellowship  D. friendship
29. apparent A. distinct B. obscure C. manifest D. obvious
30. antiquity A.old B. ancient C. modern D. old-fashioned

Part Three: Complete each sentence below with the most suitable word from the four answer choices.

31. The World Health Organization (WHO), an agency of the United Nations, lifted its against
unnecessary travel to Hong Kong because of the outbreak of severe acute respiratory syndrome (SARS).

A. advisory B. greeting C. speech D. merriment
32. At approximately the age of six months, a child begins to , but many of the sounds he/she makes
may not yet carry meaning for the child.

A. instruct B. babble C. scream D. criticize
33. Slab and other avalanches can be hard or soft, wet or dry and can be triggered naturally or

A. poignantly  B. assertively  C. artificially ~ D. positively

34. Possible causative for brain cancer in firefighters include vinyl chloride, acrylonitrile and
formaldehyde.

A. agents B. copies C. beams D. antiquities
35. The learning theory is based on the assumption that, although human aggression may be influenced by
physiological characteristics, the of those characteristics depends on learning and is subject to the
person's control.

A. experiment  B. activation C. crossing D. closing
36. The scientific question is whether the chimps' abilities are homologous to human language -- that is, whether the
two systems show the same basic organization owing to descent from a single system in their common

A. ancestors B. friends C. enemies D. partners
37. Almost all diamonds contain very tiny natural known as inclusions.

A. signals B. inflections  C. birthmarks  D. dents
38. Sulfates, which originate primarily in coal-fired power plants, started rising around 1900, which is
partially increased volcanic activity in the Caribbean around the turn of the century.

A. affected in ~ B. attributed to  C. derived from D. conspiring from

39. Similar to past Russian revolutionaries, Joseph Stalin adopted many to evade arrest.
A. theories B. dreams C. aliases D. jobs
40. Lance suffered from temporary after his brain surgery.
A. small pox  B.amnesia C. memory D. thought
41. In Death Valley, we find the national park headquarters and overnight in this area, including
Furnace Creek Ranch and Furnace Creek Inn.
A. meals B. trails C. highways D. accommodations
42. In the early 1800's, factories were most common in Massachusetts although they later into

the more populous areas of New York, New Jersey, and Pennsylvania.
A. branched out B. closed down C. connected D. dissolved



43. Landslides, mud flows and debris avalanches frequently other natural disasters such as
floods and earthquakes.

A. prevent B. eliminate C. negate D. accompany
44. Regardless of your career path, the of your preparation as a liberal arts major is very
important.

A. width B. breadth C. examination D. narrowness
45. The summit of Mount Everest is at a (n) of 29,000 feet.

A. thickness B. distance C. altitude D. circumference
46. The Western Diamondback Rattlesnake hibernates in the of other small animals, but is often seen
laying in the sun on rocks, and on the side of roads.

A. houses B. huts C. designs D. burrows
47. Some of the water takes a different route, at which point it is carried off by a(n) before it
reaches the canals. A. aqueduct B. street C. path D. box
48. The of this auditorium are so remarkable that when one drops a pin on the stage, an audience
member can hear it hit the floor while sitting in the back.

A. air B. acoustics C. accusations D. phonetics
49. Georgia was valued by the British as a zone to protect the highly valued Carolinas against
attack from the Spanish in Florida and the French in Louisiana.

A. fence B. night C. hindrance  D. buffer
50. Particles within the cloud's center (core) became so densely packed that they often and stuck
(fused) together. A. collided B. fled C. scattered D. evaporated

Part Four: Complete each sentence using the correct word form.

51. John Adams, in his speeches and writings, the colonial cause and brilliantly championed
American rights in Congress.
A. articulation B. articulating C. articulated D. articulate

52. Disney employed many during the production of the movie, The Little Mermaid.
A. animates B. animators C. animated D. animatedly
53. An example of learning is classical conditioning, a form of learning in which two stimuli are
associated so that the first evokes the response that normally follows the second.
A. associate B. associated ~ C. association D. associative
54. From components to software to accessories, new PCs offer a array of choices, and for some

folks, sifting through the large number of options can be daunting.
A. bewilders  B. bewildering C. bewilderment D. bewilder

55. Professor Johnson, accusing the student of blatant plagiarism, the student for several minutes.
A. assail B. assailed C. assailment D. assailing

56. From another perspective, we can also conclude that the village with the most resources is able to

better the cultural ideal of choosing marriage partners within the same tribe.
A. actualizing  B. actualization C. actualize D. actualized

57. Brazil and Indonesia, which contain the world’s two largest surviving regions of rain forest, are being stripped at an

rate by logging, fires, and land-clearing for agriculture and cattle-grazing.
A. alarm’s B. alarming C. alarms D. alarm




58. These are not counterfeit dollar bills; rather they are bills printed by the United States
Treasury.

A. authenticate B. authenticity C. authentic D. authenticating

59. The lunar surface is with water-rich objects such as comets, and scientists have suspected
that some of the water in these objects could migrate to permanently dark areas at the lunar poles, perhaps accumulating to
useable quantities.

A.bombarded B. bombard C. bombarding D. bombardment

60. A Cognitive Psychology program is especially geared towards the of formal and computational
modeling and neuroscience methods to these basic questions.
A. apply B. application ~ C. applies D. applicative




